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Note : Answer questions from both Sections as 

directed. 

Section—A 

Note : Answer any two questions from this Section. 

2×20=40 

1. What is meant by wages-price rigidities ? Why 

do such rigidities occur in the economy ?  20 

2. What is decentralised household problem in 

Ramsay’s model ? How is the golden rule 

reworked in this context ?  20 
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3. Explain the life-cycle hypothesis. How does 

permanent income hypothesis explain 

discrepancy in cross-section and time-series 

data on consumption ? 20 

4. What is the fixed rate of exchange system ? 

How does it affect the fiscal and monetary 
policies in a country ? Explain. 20 

Section—B 

Note : Answer any five questions from this Section. 

5×12=60 

5. Explain the short-run Phillips curve with the 
help of appropriate diagram(s). 12 

6. Elaborate implications of rational expectations 
for inflation-unemployment trade off. 12 

7. Explain the random walk model for 
consumption under uncertainty. 12 

8. What is Michael Kalecki’s model of political 
business cycles ? Explain. 12 

 9. Differentiate between the following : 6+6 

(a) Real vs. Nominal Exchange rates 
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(b) Official exchange rate parity vs. 
Purchasing power parity 

10. What do you mean by Social Security ? Can 

such a policy help overcome problem of dynamic 
inefficiency in an overlapping generations 
equilibrium ? How ?  12 

11. Briefly explain Solow’s neo-classical model of 
growth.   12 

12. Write short notes on any two of the following : 

6+6 
(a) Insider-outsider model 

(b) Liquidity trap 

(c) Search theory of unemployment 
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      MEC-2 

,Ek- ,- (vFkZ'kkL=k) (,e-bZ-lh-) 

l=kkar ijh{kk  

fnlEcj] 2020 

,e-bZ-lh--2 % lef"V vkfFkZd fo'ys"k.k 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % nksuksa [k.Mksa ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

[k.M&d 

uk sV % bl [k.M ls fdUgha n k s iz'uksa ds mÙkj nhft,A 

2×20=40 

1- etnwjh&dher vuE;rkvksa dk D;k vFkZ gS \ 

vFkZO;oLFkk esa bl izdkj dh vuE;rk,¡ D;ksa iSnk gks 

tkrh gSa \   20 

2- jkels izfreku esa ^fodsafnzr ifjokjksa dh leL;k* D;k 

gksrh gS \ ,sls lanHkZ esa ¶Lof.kZe fu;e¸ dh iqujZpuk 

dSls dh tkrh gS \ 20 



 [ 5 ] MEC-2 

  P. T. O. 

3- thou pØ ladYiuk dks le>kb,A miHkksx ds 

leLFkSfrd ,oa dky  Ük`a[kyk vk¡dM+ksa esa folaxfr dh 

O;k[;k LFkk;h vk; ifjdYiuk ls fdl izdkj gks 

ldrh gS \  20 

4- fLFkj fofue; nj O;oLFkk D;k gksrh gS \ blds ns'k 

dh jktdks"kh; ,oa ekSfnzd uhfr;ksa ij fdl izdkj 

izHkko iM+rs gSa \ O;k[;k dhft,A 20 

[k.M&[k 

uk sV % bl [k.M ls fdUgha ik ¡p iz'uksa ds mÙkj fyf[k,A 

5×12=60 

5- vYidkfyd fiQfyIl oØ dh mi;qDr js[kkfp=kksa dh 

lgk;rk ls O;k[;k dhft,A 12 

6- LiQhfr&csjkstxkjh leizR;;u ds fy, rdZ'khy izR;k'kk 

izfreku ds fufgrkFkks± dh O;k[;k dhft,A 12 

7- vfuf'prrk dh fLFkfr esa miHkksx fo"k;d ;kn`fPNd 

ifjpyu izfreku dh O;k[;k dhft,A 12 
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8- ekbdy dSysLdh dk jktuhfrd O;kikj pØ izfreku 

D;k gS \ O;k[;k dhft,A 12 

9- fuEufyf[kr esa Hksn Li"V dhft, % 6$6 

(d) okLrfod cuke ekSfnzd fofue; nj 

([k) vkf/dkfjd fofue; nj rqY;rk cuke Ø;'kfDr 

rqY;rk 

10- lkekftd lqj{kk ls vkidk D;k vfHkizk; gS \ D;k 

bl fo"k;d dksbZ uhfr izfrPNk;h ih<+h larqyu esa 

xR;kRed vn{krk dh leL;k lqy>kus esa lgk;d gks 

ldrh gS \ dSls \ 12 

11- lksyks ds uo&Dykfldh lao`f¼ izfreku dh laf{kIr 

O;k[;k dhft,A 12 

12- fuEufyf[kr esa ls fdUgha n k s ij laf{kIr fVIif.k;k¡ 

fyf[k, %   6$6 

(d) varoZrhZ&cfgoZrhZ izfreku 

([k) rjyrk ik'k 

(x) csjkstxkjh dk vUos"k.k fl¼kUr 

MEC–2   


